Parts H

D Lever 9 Screw
N Dimension i i
Geometry Designation |~ ¢ g sd Geometry Designation — bDlmecnsmgs Ul
= LVAA 46 1324 995 47 CHX0625 | UMUNC 248 11 10 4
1 LVAAN | 47 133 10 468 CTX03510 | M35X06 10 47 53 15
b (@\, d o} | CTX04513 |msxors 131 69 68 20
B CTX04513H |M45X075 131 7.2 68 20
. b CTX0515 M5X08 15 8 7 20
CTX0517 | M5X08 175 10 7 20
CTX0621 | MGXL0 212 124 9 25
D Locator DHAQ514 | M5X08 140 50 70 25
T DHAO617 | M6xL0 170 7.0 75 30
Geometry Designation — bD|mer(1:S|onsd DHA0620 | M6x10 200 80 80 30
DHA0624 | MGx10 24.0 120 85 3.0
LFMP3R-A_| M35 187 101 46 @ ai I DHAO815 | M8X1% 155 625 625 4.0
LFMPARI-A | M45 243 138 62 s C
LFMPAR-A | M45 263 138 62 P =% ke |DHACBIBE | MEXD 18 B85 55 40
DHA0820 | M8X12%5 200 80 9.0 40
DHAOS21F | M8X10 210 85 85 40
DHA0825 | M8XL2%5 250 100 9.0 4.0
LFMASRA | M3 185 05 48 DHAQ830 | MBX1% 300 1.5 115 40
CEMAMRA (M35 26 1 73 ETGA0520CBM | M5X08 20 65 20 43°
ETGD0825 | M8X1%5 25.2 11 40 40°
ETKA0523 | M5X08 23 76 20 43°
ETKA0625 | M6X10 255 88 20 43°
ETKDO516 | M5X08 16.4 68 20 40°
ETKD0620 | M6X10 20 83 25 40°
ETNA02506 |M25X045 5.7 34 7 43
ETNA0408 | M4X0T 8.0 51 15 43°
p—— ETNAO412 | MAXOT 12 51 15 43°
Geometry Designation bDlmgnsm(rj\s BN & ETNAOS1L | M5X08 11.0 64 20 43°
- NO407 |M4X07 75 6 7 3 ETNDO2506F |M25X0.35 6.25 31 7 40°
N (1| T [Nosos  |Msx08 83 66 7 3 ETNDO307F | M3X035 7.8 37 8 40°
. @’ I i ETNDO03509 | M35X06 9.6 47 10 40°
~ — FTGA03507 | M35X08 7.0 53 15 60°
B . FTGA03508 | M35X06 8.0 53 15 60°
FTGA03510 | M35X06 10.0 53 15 60°
FTGA03512 | M35X06 12.0 50 15 60°
D Pin FTGAO411F | M4X05 11.0 70 15 60°
FTGAO4L7CBM | MX07 17.0 55 15 62°
P Dimensions FTGAO0510-P| M5X08 10.0 70 20 63°
Geometry DL FTGAO0512-P| M6X08 12.0 70 20 63
PNO308 | 30 8 FTGA0513 | M5X08 13.2 70 20 61°
q PNO310 | 30 10 FTGA0513-P| M5X08 13.0 70 20 63°
b PN0312 30 12 FTGAO517 | M5X08 17.0 75 20 61°
PNO314 | 30 14 FTGA0621 | M6X10 215 90 20 61°
PNO515 | 48 33 145 a GI 3 of |[FTGAOB26 |WBX15 260 116 25 6L°
a o . FTKA02206 |M22X045 55 30 6 60°
. FTKA02206S |M22X045 5.6 305 7 60°
FTKA02555 |M25X045 55 35 7 60°
FTKA02565 |M25X045 6.5 35 7 60°
9 Screw FTKA02565S |M25X045 6.5 38 8 60°
FTKA0307 | M3X05 7.2 42 9 60°
Geometry Designation Dimensions i FTKA03508 | M35X05 8.4 55 15 60°
a b c d BT 4 FTKA03510 | M35X06 10.4 55 15 60°
- a |AZOS08F | M5x05 13 8 9 @2 FTKA03511A | M35X06 11.0 52 15 60°
d] ‘ ) |AZ0514 M5X08 14 7 9 @25 FTKAQ408 | MéX07 84 55 15 60°
J FTKA0410 | M4X07 10.0 55 15 60°
N A FTKAO411K | Mex07 110 68 15 60°
- : FTKA0412B | MéX07 125 55 15 60°
BHAO510 | M5X08 15 10 85 40 FTKA0413 | MaX07 13.0 55 15 60°
! ‘ BHAO512 | M5X08 17 12 85 40 FTNA01633 |ML6X035 3.3 26 6 60°
df:vu }o} |BHAOG12 | Mex10 18 12 10 50 FTNA0203 | M2X04 30 27 6 60°
. | e BHAO614 | M6X10 20 14 10 50 FTNA02033 | M2X04 33 27 6 60°
b BHAO616 | M6X10 22 16 10 5 FTNA0204 | M2X04 43 27 6 60°
BHAOGLONYLOK| M6X10 25 19 10 & FTNA02205 |M22X045 4.5 30 6 60°
CHX0407 | M4X07 95 7.36 57 25 FTNA0238 | M2X04 338 30 6 60°
@ df S;,LH:FH CHX0415 | M4X07 175 15 54 25 FTNA0305 | M3X05 5.2 42 9 60°
i c CHX0510 | M5X08 131 101 7.7 3 FTNA0O306 | M3X05 6.2 42 9 60°
. b CHX0518 | M5X08 215 18 8 3 FTNA0307 | M3X05 7.2 42 9 60°
CHX0622 | M6X10 265 22 10 4 FTNA0408 | MéXO0T 85 55 15 60°
@ dI 3 3 CHX0513 | M5X08 13 8 64 25 FTNAO41L | M4X07 11.0 55 15 60°
g CHX0616 | M6x10 162 101 85 3 FTNAO511 | M5X08 11 70 20 63
[ c CHXO0617L |Mexl0guj 172 101 85 3 FTNA0513 | M5X08 13.0 70 20 60°
5 CHX0621 | M6X10 21 101 85 3 FTNAQ516 | M5X08 16.0 70 20 60°






